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In a row Priya is 15" from the left and Nehais 17t from
the right, if there are 10 person sits between them. Find

number of person?
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In arow of 50 students. Aarav is 25" from right
and kapil is 12t from left. How many students are
there between Aarav and Kapil?
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In arow of 30 students. Shalini is 15 from right and
Neha is 20t from left. How many students are there

between Shalini and Neha?
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In a row of 35 students. Ankita is 5 from left and Chitra is
oth from right. If Nehais exactly between Ankita and Chitra..

What is the rank from right e
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In a class of boys and girls the position of Arpit from left end side is 26
and the position of Aarav from right end side is 18 . When they
interchange there position, the position of Arpit become 30" from left
end side. Then find total number of boys and girls ? — "'}

Find how many person are sits between Arpit and Aarav’?_a) >

Find new position of Aarav from the right end ? —=
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In line of 30 students , when Priya was shifted to her left by 4 places
her number from the left end of the row became 15th. What was the
place of kavita from the right end of the row if Kavita was two places

to the right of Priya’s original position?
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